Chapter 4 Practice Test y —iw

1. Identify the y-intercept and the axis of symmetry for the graph of Q. LY R
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3. Determine whether flx) = —3x2 + 6x + 1 has a maximum or a minimum value 3.
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4. Solve —x? = 4x. If exact roots cannot be found, state the consecutive integers s 0 -
between which the roots are located. 4-‘: <= ) \_‘
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5. Solve 5x2 + 13x = 6 by factoring. O -:XC)(VH) s S 3) 5\'
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6. Write a quadratic ith 6 and - as its roots. WTite the equation in . g —_ c
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hx + ¢ = 0, where a3, and CMare integers. @
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9. To solve 9x2 — 30x + 25 = 49 by using the Square Root Property, you would 9. (‘3 x + S-)
first rewrite the equation as .
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10. Find the value of ¢ that makes x? - 11x + ¢ a perfect square trinomial. 10.
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For Questions 10 and 11, solve each equation by completing the square.
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11. The quadratic equation x? — 14x =—20 is t8 be solved by completing the —-'"""

square. What should be added to both sides to complete the square?

12. Find th exggl solutions to sz = 3r 2 by using the Quadratic Formula. /@’
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For Questions 13 and 14, find the A ‘\lue of the dif Mg;,;&gg;;g\g},ﬁ’ or each quadratic

equation. Then describe the number ‘m(l type of roots for the gquation.
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1- Identify the vertex, axis of symmetry, and direction of openfng for <.— s ) "7) e -S
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16. What 1s the quadratic function has its vertex at (2, -6) and opens down? 16. Y (Y -2 ) L4 Q
17. Write y = x2 — 6x + 8 in vertex form. 17.
18. Write an equation for the parabola with vertex at (2, —1) and y-intercept 5. 18.
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17. Write y =x2 — 6x + 8 in vertex form. “_ 17. ™ ——Cx—-s) _\
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18. Write an equation for the parabola with vertex at (2;-1) and y-intercept 5. 18. ;,/ —
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18. Write an equation for the parabola with vertex at (2, —1) and y-intercept 5. 18.
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19. Which quadratic inequality is graphed at the right? Al 19.
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